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The “jaws of life” device is used by rescuers to pry apart wreckage.  A pressure of 
35 MPa (35×106 N/m2) is developed behind the piston with a 50-mm radius.  
Determining the prying force R, the force in link AB, and the horizontal force 
reaction at C for a general opening angle θ.  Determine these forces when θ=0, and 
plot these expressions for 0≤θ≤45º.  Determine the minimum value for R and the 
angle θ where it occurs.  Determine the work done by the hydraulics to move the 
piston, and the work done by the wreckage on the jaws. 
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